
Copyright  ABN 99 124 177 297

N.B: It is recommended that a licenced workshop or tradesperson carry out the above procedure 
and that workshop manual and relevant safety procedures are followed in addition to the above. 

                                                                          
Instructions

Front Swaybar - Quick Release Links    
 

This instruction sheet should be used in conjunction with the workshop manual and proper safety procedures followed.

Contents - 2x complete links
                - ball joint and bushing.
                - 2x 12mm ID washers for ball joint
                - 2x M12 nyloc nuts for ball joints  
                
                - 2x diff brackets
                - 2x 1/2 inch bolts for diff bracket 
                - 2x 1/2 nyloc nuts for diff bracket
                - 2x 1/2 inch flat washers 

                - 2x chassis brackets
                - 4x small flange bolts - for chassis

                - 2x R clips 
                - 2x large R clip washers 

                - 2x disconnect studs
                - 2x M12 flange nuts for disconnect studs
                - 2x M12 flat washers for disconnect studs 

                - 2x chassis studs
                - 2x 3/8 nyloc nuts for chassis studs

            
          

Application - Jeep Wrangler
                    - JK Series

         
                     

                        

Z6060

• Raise vehicle evenly and safely support.

  Never rely on a Jack only

• Remove original links from vehicle.

• Proceed to bolt up diff brackets to 
  diff using 1/2 nut/bolt and flat washer

Note - depending on your model, 
the diff bracket may be bolted on 
either side of diff.

• Bolt up disconnect pin using 
M12 flange nut and washer

Note - place washer between 
bracket and link bushing (not 
under flange nut)  



                                                                          
Instructions

Front Swaybar - Quick Release Links    
 

This instruction sheet should be used in conjunction with the workshop manual and proper safety procedures followed.

N.B: It is recommended that a licenced workshop or tradesperson carry out the above procedure 
and that workshop manual and relevant safety procedures are followed in addition to the above. 

• Bolt up link to swaybar with nyloc nut 
  and M12 washer - place washer between 
  swaybar ball joint (not under nut)

  Note - check turn buckle is evenly 
  screwed into both ends.

• This product is designed for raised 
  vehicles 2-6 inches.
 
    **For best performance, confirm 
    swaybar is near horizontal (parallel 
    with the road) when vehicle is at ride 
    height** 

  Adjust turn buckles to remove any 
  pre-load from LH side verse RH side
  Then tighten lock nuts 

• Bolt chassis pin up to chassis 
  bracket using 3/8 nut flat washer.

  Remove swaybar link from diff 
  pin and place over chassis pin.

  Align bracket on chassis and 
  centre punch the chassis - now 
  drill 2x holes with 6.5mm drill bit.

• Bolt up bracket with 2x small 
  flange nuts

Large flat washer and R clip


	Page 1
	Page 2

